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3. P IE Iuv'dx=uv—ju’vdx
EREN: 1) B ZKRH v;
2) ju’vdx [:I.’.Iuv'dxiﬂﬁik.

—RaR: & R, X, R, 5/, =7 RIRE,
HFRTE DN u, HREEBUN Y.

BATE
(1) I x"e“dx, I P (x)sin axdx, I P (x)cosaxdx
(i7) I x" In xdx, I x" arcsin xdx, I P (x)arctan dx

(iii) j ™ cos bxxdx, j e™ sin bxdx.
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2. WEER M
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gl je_xz dx, ISinxdx, Isin(xz)dx,

X
d
Ilnxdx’ _[\/1_:679 I\mdx,

[V1-K%sin>xdx O<k<1), =-----
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3. % — s B B T T SO BGR.
(1)~ j fax+bydx =+ j f(ax + b)d(ax + b)
a
1
@) [ x"" flax" +b)dx =— j f(ax" +b)d(ax" + b)
na

ONEA %) dx = 2[ f(x)dx
X

[ FO) L ax=—[ d-
X X X X

(5) j’ £n x) L dx = j’ f(n x)d In x,
X

jf(alnx+b)ldx=1jf(a1nx+b)d(a1nx+b)
X a
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(6)~ j f(e¥)e dx = j f(e*)de*

j’ f(ae* +b)e dx =1 j f(ae* +b)d(ae* +b)
a

(7 j’ £ (sin x) - cos xdx = j £ (sin x)d sin x
I f(cos x)-sin xdx = — I f(cos x)d cos x

I f(tan x) - sec” xdx = I f(tan x)d tan x

f (arctan X)

1+ x*
f(arcsin x)

\/l—x2

(8)~ dx = I f(arctan x)d arctan x

dx = I f(arcsin x)d arctan x
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4. #b e~ N AL
(1) Itan xdx=—In|cos x |+C;

(2) jcot xdx =In|sinx |+C;
3) Isec xdx =In|secx+tanx|+C;

(5) I 1 2dx=1arctan£+C;
1 1 —
6) [——dv=—-In|=—=
x* —a

(4) Icscxdx= In|cscx—cotx|+C;
2
a” + x a a
|+C;
2a X+a

(7) j\/a - —x = arcsma+C

® | —dx=In|x+x’ta’ |+C.
\/.x +£l
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5. & FERACHE:
) t=14 FR R HR
(2) =fAR#H;

(7) \/612—x2 A< x=asint; t € (-
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(i) \/a2+x2 < x=atant; t€(-

(zi1) \/xz—az o< X =asect.

x>aﬂﬂ‘,te(0,%) x<—aH‘T, é‘\x=—
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L[ f(x)dx =In(x + VP +1)+C Mif'(x)=

i

2. 1% ()BISREIsine, NBHI—1NRRRELY

(A) x+sinx (B) x-—sinx
(C) x+cosx (D) x-—cosx
i
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2*3%

B2 j%‘[9"+4*“
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_[ dx

B3 K" 1+e2 +e3 +eb

=2 NJUPT




e j%-“(x+ 2)*
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'fﬁﬂ5 j% J-x+smx dx .

1+ cosx
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'fﬂlﬁ j% J-x+smx dx .

1+ cosx
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#7 R j-3c0sx—§1nxdx.
COS X + sin x
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B8 K

sinx COS X
Il=j . dx&12=j‘ : dx.
acos x + bsin x acos x + bsin x
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9 3K I max{1, x }dx.
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H10 & F(x)RS()REREL,H F0)=1,4

£ f(x)F(x)=sin’2x,F(x)> 0,3 f(x).
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